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Note : All Questions are compulsory and each question is of 1 mark.
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Only English version is valid in case of difference in both the languages.
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Ratioof V__ and V_ is
(a) 1.11

by 1.5

{c) 1.41

@ 20

Core of transformer is made of
(a) Copper

(b) Aluminium

(¢) Castlron

(d) Silicon Steel

In emf equation of transformer ¢ is
denoted by
(a) minimum flux
(b) average flux
(¢) maximum flux
(d) supply frequency -
P.T.O.
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Copper losses of transformer depends
upon
(a) load voltage
(b} load current
(c) primary voltage
(d) primary current

In which part of transformer
hysteresis loss is occur ?

(a) primary winding
(b) core

{c) secondary winding
(d) insulating part

Connection of three phase 11 kV/0.4
kV transformer is

(a) AY ) Y/Y
) Y/A ) AA

Commutator of a DC machine is
made of

(a) Aluminium
(b) Iron

(¢) Hard copper
(d) Steel

Series field winding is made of

(a) Thin wire and small number of
turns.

(b) Thick wire and large number of
turns.

(¢) Thin wire and large number of
turns.

(d) Thick wire and small number of
turns.
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4% FeAa wd 1500 RPM Teaehiierss Tt
%Y ST HieT ot e T &

(a) 1440 RPM
(b) 1480 RPM
(¢) 1500RPM
{d) 600RPM
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10.

11.

12.

13.
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Function of commutator in DC
machine is
{a) speed control

(b) Improvement in commutation
process

(c) to convert alternating current to
direct current

(d) to convert alternating voltage to
direct voltage

Direction of rotation of armature in
d.c. shunt motor can be changed by

(a) By interchanging armature
terminals

(b) By interchanging field winding
terminals

{c) Above(a)or(b)
(d) None of above

Critical resistance of a DC generator
is

(a) Brush Resistance

(b) Field winding Resistance
(c) Armature Resistance

(d) Interpoles Resistance

Reason of laminated stator core in
induction motor is

(a) to reduce eddy current losses
(b) to reduce hysteresis losses
(c) to reduce copper losses

{d} none of above

Actual speed of an induction motor
having 4% slip and 1500 RPM
synchronous speed is

(@) 1440 RPM
(b) 1480 RPM
(c) 1500 RPM
(d) 600 RPM

P.T.O.
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(a) Ve F g ey SHEaw
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SCR ¥ 1. =Ireiebl 1 A e &
(a) N-P-N-P
(b) P-N-P-N
{¢) P-P-N-N
(@) N-N-P-P

SCR weieH % feiw wét waem
(@) 7T FUE gIH
(b) T SIS T FAT FOTTH
(c) VT g TWONH
(d) T ATES T FAT YTRHD
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Rotor voltage frequency of an
induction motor having 2% slip and
50 Hz frequency is

(@) 100Hz
() 1 Hz
(¢) 10H=z
(d) 20H=z

Following protection is not avatlable
in D.O.L. starter

(a}) over current protection
(b} no-volt protection

(¢) toreduce starting current
(d) single phasing protection

Direction of rotation of rotor of three
phase induction motor can be
changed by

(a) inserting resistance with stator
(b) inserting capacitor with stator
(¢) inserting inductor with stator
(d) interchanging any two phases

Sequence of semiconductor layers in
SCR is

(a) N-P-N-P
(b) PN-P-N
(c) P-P-N-N
(d) N-N-P-P

Correct connection for SCR operation
is

(a) Gate and Cathode positive

(b) Gate positive & Cathode
negative

(¢) Gate and Cathode positive

(d) Gate negative & Cathode

positive
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Average value of half have controlled
rectifier is

(a) —nﬂ(l-Pcosa)

\Y%

) ‘2—;1003(1

Vv
{c) Tm cos o

Vm
(d) ‘j;t"(l + cos a)

Material used for spring for
controlling torque in indicating type
instrument is

(a) Phosphor Bronze

(b) Steel

(¢) Aluminium

(d) Silicon Bronze

In moving iron type instrument,
gencrally method used for damping
torque 1s

(a) Liquid friction damping

(b) Eddy current damping

{¢) Air friction damping

(d) None of the above

For measurement of DC power
following instrument is used

(a) Electrostatic type instrument
(b) Induction type wattmeter
(¢) Dynamometer type wattmeter

(d) Permanent magnet type
instrument

Megger is used for
(a) measurement of low resistance

(b) measurement of  insulation
resistance

(¢) energy measurement
(d) measurement of earth resistance

P.T.O.
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Following transducer is used in
weighing machine :

(a) Burdon Tube

(by RTD

(c) LVDT

(d) Strain guage

Following transducer is used for
speed measurement :

(a) Strain guage

(b} LVDT

(c) RTD

(d) Techogenerator

Three phase squirrel cage type
induction motor is used for industrial
drive, because of

(a) Robust construction

(b) Low cost

(¢c) Easy operation

(d) All above

Electric motor used for mining field

is

(a) DC series motor

(b) Flame proof squirrel cage type
induction motor

(¢} DC shunt motor

(d) AC series motor

Motor used in domestic mixer is
(a) Induction motor

(b) Universal motor

{¢) Reluctance motor

(d} Synchronous motor

Due to low power factor in a circuit
(a) increase voltage

(b) increase resistance

(c} increase current

(d) All above

Melting point of fuse material should
be

(a) High (b) Zero
(c) Infinite (d) Low
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Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii) 9RF T & T 9wl F FIAR TF Y g P |
Solve all parts of a question consecutively together.
(iii) W G i 74 gS G IR B |
Start each question on a fresh page.
(iv) 2 yrrar B areav e @) Rk ° st s dt ar &
Only Englisk version is valid in case of difference in both the languages.

1. () afxaRonhe Ht RKewrr v e s, 9 w0 Em 2
What will happen if D.C. supply is connected to a transformer ?

(i) Tewamy vt wiew o Frafe T R 7 A9 Fen S €

Why D.C. series motor is never started on no load ?
(iii) T F IRV HieX T Fa1 T8 Bkt § ? T |

Why single phase induction motor is not self starting ? Explain.
(iv) o1 ST Y it oA St T PRI e € 7

On what factor the speed of an induction motor depends ?

(v) THEIR ¥ gfeeT uRr & aa Fa e €
What do you understand by holding current of SCR ? (2x5)

2. () ot sRonfiEt & @nT 9 aIbmEr 5t fagd ®9 8 e |
Explain in detail the advantages and disadvantages of three phase transformers.

(i) Teeumr sthE # o i fafie fafid @ wwme
Explain different methods of excitation of D.C. generators. (6+6)

) P.T.O.
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3. (D ﬁ@g@wmmm#mammml

Explain construction and working principle of shaded pole single phase
induction motor.

(ii) Sreor wiex FY et Brdaor = fafe= Tl @ oo i

Describe the different methods of speed control of induction motor. (6+6)

4, (i) IE R W OROnE % 5 S gaeR au g ot gt |
Explain working of transformer on no load and draw phasor diagram also.

(ii) T Fellg YT HeX HHd TR B |
Describe the single phase induction type energymeter. (6+6)

5. W:mﬁﬁs@mﬂmﬁam@@mm%aﬁﬁﬁmﬁﬁam
H |

Draw the generalized block diagram of an instrumentation system and explain the
details of each block. (12)

6. Tt e & o fpT TR F wtex SugEd W SR i 2
Which type of motor is suitable for following drives and why ?
(a) U v
Textile mill
by F= e
Paper mill
©
Crane (4+4+4)

7. () bR aftre R @ S # avi S |
Describe the construction of miniature circuit breaker.

(i) T SRR TR % i & e e w Aok Sk

Describe the working principle of dynamometer type wattmeter. (6+6)

8. Frefwfiga ¥ & Reel @ W oy fewmfomt fofid
Write short notes on any two of the following :
G =
Relay
(i) Tufenfa
Auto-transformer
(i) X
Inverter (6x2)



